@D x2-6x+9 @ 4x% 1 16x - 16
@ ¥+ 12x + 36

@2x2 +4xy+ 4y2
® 2+ duy + 4y

@20 +dxy + 47 = 27+ doy + 47 + 7

= (x_|_2y)2 _|_x2
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@ 2x+1 @ 3x+5
® 5x+10 @6x+6

® 6x+20

2x2 +5x+2=(2x+1)(x +2)

wrabA S8 o] Aol 2{(2x + 1) + (x + 2)} = 6x + 6 ]t}




3. 9a2-16p2=-120°0]T 3a—4b =4 & W, 3a + 4b ] S FotH?

® 2 @ 3 ® -2 (Ei)—s ® -5

(3a + 4b)(3a — 4b) = —12
~3a+4b=-3




4.  Ax+Axy+9y? = (Bx+Cy)? @ o, o] & WEoh= Al A A, B, C
o Fe F?

O 14 @ 15 ® 16 @17 ® 18

B ‘

(Bx + Cy)? = B%x? + 2BCxy + C?y?
= 4x% + Axy + 9y?

B=2 C=3 A=12

A+B+C=12+24+3=17
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l<x<49 o Vx2-2x+1- Vx2—8x+ 16 & 7tt5] 514?

® 2x-2 @ 2x+1 ®)2x-5

@ 3x-1 ® 3x+1

B

V2 —2x+1- Va2 -8x+ 16
MY/ e Y c=r v
=lx—1 - |x -4
=x—-1+x-4=2x-5




= & L AREel A ¢ A2

@ 972 = (100 - 3)% = 1002 — 2 x 100 x 3 + 3% = 9409
@ 51%x4.9=(5+0.1)(5-0.1) =52 -0.12 = 24.99

® 3012 = (300 + 1)2 = 300 + 2 x 300 x 1 + 12 = 90601
@ (V24 V3)(V2- V3) = (V2)* - (V3)? = -1

@) (VI - VE(VIT - VB) = (VID)? - (V2)? = 8

,@

~VI0 - V2)(VI0 - V2)
(= V3 - VI0)(- V2 + VID)
(-V2)? - (VI0)2 = 2 - 10
-8
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@ a2 - 2ab+ b? ((@az—b2 @ a2 + b2

@ a® + 2ab + b? ® a4+ 2ab

ARG BBl Axztge) 7tz o] Aol a-b, A2l Aole
a+bOIEE WOl (a—b)(atb) = a? - b




8. a(2a-b) - (b-2a) E QA5ES|5HH?

® (a—-1)(2a-b) @ (a-1)(2a+b)
® (a+1)(2a+b) @) (a+1)2a-b)
® a(2a-b)

a(2a —b) — (b—2a) = a(2a—-b) + (2a - b)
=(2a-b)(a+1)




9. 2x®4+5x-12= (2x+a)(x+b) & WES=q, b ol 5t 22+ (a+

b)x+ab & A2 & A2?

@© (x-3)(x—4) @ (x+3)(x+4) ® (x-6)(x+2)
@@-3)(x+0)  © (x-2)(x+6)

2x% +5x-12=(2x-3)(x +4)
La=-3, b=4
x4+ (a+b)xt+ab=x*+x-12=(x+4)(x-3)




10. thee x4y B A & (@] AfEashs wgolth, MEshe
A4 a, b ol Bkl a—b O L2 (Fa>b)

(5x+y)(5x+y—-3)-18
—AA-3)-18
=A%2-3A-18= (5bx+y+a)(5bx+y+b)

® 4 @ 6 ® 7 @s @)

B

Sx+y=A & xgsH
(5x 4+ y)(5x +y—-3) - 18

=AA-3)-18
= A2-3A-18
= (A+3)(A-6)

=(Bx+y+3)(5bx+y-—06)
w2t a =3, b=-6 9|22 a—- b =9 oJT}.




11, o8 % o -1 9 A57} obdl 2127

D x-1 @ x*-1 @ x*-1

@xG—l ® x¥-1

B-1=0x -1 +1)
==+ 1) +1)
=(x-1)x+D2+1)(*+1)




12. a:1+\/§,b:1-\/§<>gcq1,§ -2 9 3ot

D -4+2 @ -2v2 ® 22
@4«/5 ® 62

B

ab=(1+V2)(1-V2)=1-2=-1
a+b=(14+V2)+(1-+v2)=2
a-b=(1+V2)-(1-V2)=2+2

a b>-a?
b ab
—(a+Db)(a-b)

ab
-2x22
T
=42
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13.

x2 + 36x+ = (2)C—|-)2
67 + 1 +[@] = Bx+5)2x+[@)

® 6.6 @ 6,0,0 © 9.6
® ©,@ ®e.e

B

@:22 =14
©:4x®=36 .©®=9
©:9%2=281

®:10+3x@=1, .@=-3
®: (-8)x5 =15




14. 49x% -9+ 14wy +y* & A2 AEY (ax + y 4 b)(ax + cy + 3)
7F =3}, oldl, &4 a, b, ¢ o W5kl a - b+ ¢ O gL& F5HA?

@ 2 @ 4 ® 6 @11 ® 16

B ,

49x2 + 14xy +y* -9 = (Tx +y)? - 32
=(Tx+y+3)(Tx+y-3)

a=T7,b=-3,c=1

La—-b+c=11
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